log AL luminance difference -
threshold L g=630cd/nf
Xy
A 034 0,40 a1 & p-A3-it
Y 045 047 kR o6sA

Uis @l 3 repeats
0,58 0,32

0,25 0,44

log AL luminance difference =
threshold L g=630cd/rf
Xy
A 034 0,40 a5 g p-A3-it
| Y 0,45 0,47 zp1 265 A

0,15 0,19 3 repeats
0,58 0,32

0,25 0,44

"

log AL luminance difference | _
threshold Lg=630cd/nt

3 X y
A 034 040 yarn & P-A3fit
4 Y 045 047 ypogsy

Uy @l 3 repeats
0,58 0,32 R

0,25

log AL luminance differen N
- t%resﬁol%ed Erence | g=630cdin?
x oy
A 034 040 515 g P-A3-fit
L Y 045 047 pg 65
Os O 3 repeats
0,58 0,32
0,25 0,44

UE000-7A_1
UEO00-7R

log AL luminance difference | _
threshold Lg=630cd/n?
X y
A 034 040 yaa & P-A3—iit
Y 0,45 047 pg 65 A

U5 Ol 3 repeats
0,58 0,32

025 0,44

UE000-2A_1
log AL luminance difference | _
threshold Lg=630cd/n?
21 X oy
A 034 040 (a1 & P-A3-fit
L Y 045 047 ap 265 A

O Gl 3 repeats
0,58 0,32

0,25

log AL luminance difference | _
threshold Lg=630cd/n?
x oy
A 034 040 515 g p-A3-fit
L Y 045 047 Ap 265 v

0,15 0,19 3 repeats
0,58 0,32

0,25 0,44 o

SR

UE00-6A_1
log AL luminance difference | _
threshold Lg=630cd/n?
x oy
A 034 040 a5 & p-A3fit

L ¥ 045 047 Apo6sB
015 019 3 eneats

0,58 0,32
0,25 0,44

UE000-8A_1

log AL luminance difference | _
threshold Lg=630cd/n?
x oy

A 034 040 515 g p-A3-fit

Y 0,45 047 gy o6s R

Ui Ol 3 repeats
0,58 0,32

025 0,44

UEO01-1A 1
log AL luminance difference | _
threshold Lg=630cd/n?
x oy
A 034 040 515 g p-A3-fit
L Y 045 0,47 2p 265 G

0,15 0,19 3yoneats
0,58 0,32

0,25 0,44

log AL luminance difference | _
threshold Lg=630cd/n?
- X y
A 0,34 040 yain & P-A3fit
L ¥ 045 047 ApesaB

0,15 0,19 3 repeats
0,58 0,32

[~ 0,25 0,44

< 22¥Y;

UE001-5A 1
log AL luminance difference | _
threshold Lg=630cd/n?
x oy
A 0,34 040 yain & P-A3fit
L Y 045 047 Apo6sAG
015 0,19 3 renears
0,58 0,32 o
0,25 0,44 3,/
XA

UE001-7A_1

log AL luminance difference =
threshold L g=630cdt
Xy

A 034 040 a1 & P-A3-it

Y 045 047 apoesR

US> O 3 repeats
0,58 0,32

0,25 0,44

log AL luminance difference =
threshold L g=630cdt
r X y
A 0,34 0,40 a15 & P-A3-it
L Y 045 047 Apogsay

US> G 3 repeats
0,58 0,32

0,25

log AL luminance difference =
threshold L g=630cdn
Xy
A 034 040 a5 g P-A3-fit
L Y 045 0,47 Ap 265 AR

015 019 3 enears
0,58 0,32 K

0,25 0,44 . .~»«~" X

3

UE001-6A_1
log AL luminance difference =
threshold L g=630cdt
Xy
A 034 040 a5 & P-A3-it

L Y 045 047 xpogsAY
015 019 3yneats

0,58 0,32
0,25 0,44

UE001-8A_1




log AL luminance difference -
threshold L g=63cdin?
Xy

A 034 0,40 a1 & p-A3-it

Y 045 047 kR o6sA

015 019 3 repeats
0,58 0,32

0,25

log AL luminance difference =
threshold L g=63cdin
Xy
A 034 0,40 a5 g p-A3-it
| Y 0,45 0,47 zp1 265 A

015 019 3 repeats
0,58 0,32

0,25

log AL luminance difference =
threshold L g=63cdin

Xy
A 034 040 yatg g P-A3-fit
1Y 045 047 (Roesy

015 019 3 repeats
0,58 0,32

0,25

log AL luminance difference =
threshold L g=63cdin
Xy
A 034 0,40 a1 & p-AZ-it
| Y 045 0,47 pgogs B

015 019 3 repeats
0,58 0,32

0,25 0,44

UE000-7A_2
UEO00-7R

log AL luminance difference =
threshold L g=63cdinf
X oy
A 034 040 a5 g p-A3-fit
Y 045 0,47 pgogs A

0,15 019 3 repeats
0,58 0,32

0,25

UEO00-2A_2
log AL luminance difference =
threshold Lg63cdn?
2+ X %
A 034 040 yata & P-A3-fit
| Y 0,45 0,47 Apogs A

0,15 019 3 repeats
0,58 0,32

0,25

log AL luminance difference | _
threshold Lg=63cdin?
x oy
A 0,34 040 a5 & P-A3fit
L Y 045 047 Ap 65y

0,15 019 3 repeats
0,58 0,32

0,25

UEO00-6A_2
log AL luminance difference =
threshold L g=63cdin
X oy
A 034 040 a5 g p-A3-fit
| Y 045 0,47 Apoesh

0,15 019 3 repeats
0,58 0,32

0,25 0,44

UE000-8A_2

log AL luminance difference =
threshold L g=63cdint
X oy
A 034 040 a5 g p-AZ-fit
Y 045 0,47 gy 26s R

0,15 019 3 repeats
0,58 0,32

0,25 0,44

UE001-1A_2
log AL luminance difference =
threshold Lg=63cdin
X oy
A 034 040 a5 g p-A3-fit
| Y 045 0,47 ApoesG

0,15 019 3 repeats
0,58 0,32

0,25 0,44

log AL luminance difference | _
threshold Lg=63cdin?
- X y
A 034 040 a1, g p-A3-fit
L Y 045 047 aApoesaB

0,15 019 3 repeats
0,58 0,32

[ G 0,25

N

UE001-5A_2

log AL luminance difference | _
threshold Lg=63cdin?

X y

A 034 040 yaia g P-A3-fit a0
L Y 045 0,47 Ap2esAG
0,15 019 3 repeats 2

0,58 0,32
0,25

UE001-7A_2

log AL luminance difference =
threshold L g=63cdinf
Xy

A 034 040 a1 & P-A3-it

Y 045 047 apoesR

0,15 0,19 3 repeats
0,58 0,32

0,25 0,44

log AL luminance difference |, _
threshold Lg=63cd/n?
- X y
A 034 040 a5 g p-A3-fit
1Y 045 047 ppogsay

0,15 0,19 3 repeats
0,58 0,32

0,25

log AL luminance difference | _
threshold Lg=63cd/n?
x oy
A 0,34 040 a3 & P-A3-fit
L Y 045 047 aAp 265 AR

0,15 0,19 3 repeats
0,58 0,32

0,25 0,44

N

UE001-6A_2
log AL luminance difference =
threshold L g=63cdin?
Xy
A 034 040 a5 & P-A3-fit
L Y 045 0,47 R ogs Ay

0,15 0,19 3 repeats
0,58 0,32

0,25

UE001-8A_2




log AL luminance difference -
threshold L g=6,3cd/nf
Xy

A 034 0,40 a1 & p-A3-it

Y 045 047 kR o6sA

015 019 3 repeats
0,58 0,32

0,25 0,44

log AL luminance difference | _
threshold Lg=6.3cd/n?
X y

A 0,34 040 a1a g P-A3-fit

L Y 045 047 gy 565 A

015 019 3 repeats
0,58 0,32

0,25 0,44

log AL luminance difference | __
threshold Lg=6.3cd/n?

Xy
A 034 040 yatg g P-A3-fit
1Y 045 047 (Roesy

015 019 3 repeats
0,58 0,32

0,25 0,44

log AL luminance difference | _
threshold Lg=6.3cd/n?
x oy

A 0,34 040 a15 g P-A3-fit

L Y 045 047 pg 65

015 019 3 repeats
0,58 0,32

0,25 0,44

UE000-7A_3
UEO00-7R

log AL luminance difference =
threshold Lg=6.3cdint
X oy

A 034 040 a5 g p-A3-fit

Y 045 0,47 pgogs A

0,15 019 3 repeats
0,58 0,32

0,25 0,44

UE000-2A_3
log AL luminance difference =
threshold Lg=6.3cdinf
2+ X %
A 034 040 yata & P-A3-fit
| Y 0,45 0,47 Apogs A

0,15 019 3 repeats
0,58 0,32

0,25 0,44

log AL luminance difference | _
threshold Lg=6.3cd/n?
x oy

A 034 040 a3 & P-A3-fit

L Y 045 047 Ap 65y

0,15 019 3 repeats
0,58 0,32

0,25 0,44

UEO000-6A_3
log AL luminance difference =
threshold Lg=6.3cdint
X oy
A 034 040 a5 g p-A3-fit
| Y 045 0,47 Apoesh

0,15 019 3 repeats
0,58 0,32

0,25 0,44

UE000-8A_3

log AL Ituhrrrélgﬁglfczje difference Lge6.3cdin?
2 X Y
A 034 040 yata & P-A3-fit
14 Y 045 047 gy o6s

0,15 019 3 repeats
0,58 0,32

0,44

UE001-1A_3
log AL luminance difference =
threshold Lg=6.3cdinf
2 X .y
A 034 040 a5 g p-A3-fit
14 Y 045 047 apogs

0,15 019 3 repeats
0,58 0,32

0,44

log AL luminance difference | _
threshold Lg=6.3cd/n?
- X y
A 0,34 040 yain & P-A3fit
L Y 045 047 aApoesaB

0,15 019 3 repeats
0,58 0,32

[~ 0,25 0,44

UE001-5A_3
log AL luminance difference -
threshold Lg=6.3cdint
2 X .y
A 034 040 a5 g p-A3-fit
14 Y 045 047 Apossac

0,15 019 3 repeats
0,58 0,32

0,25 0,44

UE001-7A_3

log AL luminance difference =
threshold L g=6.3cd/n?
Xy

A 034 040 a1 & P-A3-it

Y 045 047 apoesR

0,15 0,19 3 repeats
0,58 0,32

0,25 0,44

log AL luminance difference =
threshold L g=6.3cd/n?
r X y
A 0,34 0,40 a15 & P-A3-it
L Y 045 047 Apogsay

0,15 0,19 3 repeats
0,58 0,32

0,25 0,44

log AL luminance difference =
threshold L g=6.3cd/nf
Xy

A 034 040 a5 g P-A3-fit

L Y 045 0,47 Ap 265 AR

0,15 0,19 3 repeats
0,58 0,32

0,25 0,44

UE001-6A_3
log AL luminance difference =
threshold L g=6.3cd/nf
Xy
A 034 040 a5 & P-A3-fit
L Y 045 0,47 R ogs Ay

0,15 0,19 3 repeats
0,58 0,32

0,25 0,44

UE001-8A_3




log L/AL luminance contrast | _
sensitvity threshold -g620cd?

2--

I data & P-A3-fit
KR 26s A
| 3repeats

log L/AL luminance contrast

sensitivity threshold L g=630cdint

I data & P-A3fit )

BM 26s A A 0,34 0,40
| 3 repeats Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

5 x=logL

log L/AL luminance contrast

sensitivity threshold L g=630cdint

data & P—-A3-fit
KR 26s Y
| 3repeats

log L/AL luminance contrast

sensitivity threshold L g=630cdint

[ data & P-A3-fit X y

PO 26s B A 0,34 0,40
| 3 repeats Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

2 X=logL

UEO00-7A_4
UEO00-7R

log L/AL luminance contrast

sensitivity threshold L g=630cd/n?

2--

[ data & P—-A3-fit

PO 26s A A 0,34 0,40
0+ 3repeats Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

5 x=logL
UE000-2A_4

log L/AL luminance contrast =
sensitivity threshold L g=630cd/n?

21

[ data & P—-A3-fit
AD 26s A
0+ 3 repeats

_1-

-2
=38
UE000-4A_4
log L/AL luminance contrast =
sensitivity threshold L g=630cd/n?

data & P—-A3-fit
AD 26s Y
3 repeats

UE000-6A_4

log L/AL luminance contrast =
sensitivity threshold L g=630cd/n?

2T

[ data & P—-A3-fit
AD 26s B
| 3 repeats

UE000-8A_4

log L/AL luminance contrast

sensitivity threshold L g=630cd/n?

data & P—-A3-fit
BM 26s R
3 repeats

UE001-1A_4

log L/AL luminance contrast

sensitivity threshold L g=630cd/n?

data & P—-A3-fit
AD 26s G
3 repeats

UE001-3A_4

log L/AL luminance contrast

sensitivity threshold L g=630cd/n?

data & P-A3~fit %

AD 26s A,B P
3 repeats

log L/AL luminance contrast

sensitivity threshold L g=630cd/n?

. 2 3,
data & P-A3~fit W4 ° T Xy
AD 26s A,G LA
3 repeats 0,47

UE001-7A_4

log L/AL luminance contrast

sensitivity threshold L g=630cdt

2 -
[ data & P-A3-fit

AD 26s R
04 3repeats

UE001-2A_4

log L/AL luminance contrast

sensitivity threshold L g=630cdt

21

1T data & P-A3-fit
AD 26s A,Y
0+ 3repeats

_1-

-2
=&
UE001-4A_4
log L/AL luminance contrast
sensitivity threshold

:',“M

11 datag p-as-it T ox oy

AD 26s AR v A 0,34
0+ 3repeats Y 0,45
0,15
0,58

Lg=630cd/nt
2 -

log L/AL luminance contrast

sensitivity threshold L g=630cdt

[ data & P-A3-fit
KR 26s AY
| 3repeats

UE001-8A_4




log L/AL luminance contrast - log L/AL luminance contrast - log L/AL luminance contrast
sensitivity threshold -9763¢d/ n? sensitivity threshold -g763¢¢/ nf itivi

- log L/AL luminance contrast
sensitivity threshold L g=63cdint itivi
2 -

log L/AL luminance contrast | _
sensitivity threshold Lg=63cain?

AT
[ data & P-A3-,
BM 26s A

log L/AL luminance contrast | _
sensitivity threshold Lg=63cain?

data & P-A3-fit
KR 26s Y %
L 3 repeats

log L/AL luminance contrast | __
sensitivity threshold Lg=63cain?

[ data & P-A3fit X oy

PO 26s B A 034 0,40
L 3 repeats Y 045 047
0,15 0,19
0,58 0,32
0,25 0,44

> X=logL

UEO000-7A_5

UEQ000-7R

UE000-2A_5

log L/AL luminance contrast | _
sensitivity threshold L g=63cdin?

21

AD 26s A
0+ 3repeat

_1-

-2
-3
UE000-4A_5
log L/AL luminance contrast | _
sensitivity threshold L g=63cdin?

AD 26s Y
3 repe

UE000-6A_5

log L/AL luminance contrast | _
sensitivity threshold L g=63cdin?

2T

[ data & P-A3-fit
AD 26s B
L 3 repeats

UE000-8A_5

data & P-A3-Fi*
BM 26s R
3 repeats

UE001-1A_5

log L/AL luminance contrast
sensitivity threshold

data & P-A3-fit
AD 26s G
3 repeats

Lg=63cd/n?

UE001-3A_5

log L/AL luminance contrast
sensitivity threshold

data & P-A3-fit “ o
AD 26sAB - "
3 repeats," r~

Lg=63cd/n?

log L/AL luminance contrast
sensitivity threshold

data & P-A3-fit
AD 265 AG &°
3 repeatyf

UE001-7A_5

sensitivity threshold L g=63cdin?
2 -

[ data & P-A3-%"
AD 26s R
o+ 3repeats

UE001-2A 5

log L/AL luminance contrast | _
sensitivity threshold L g=63cdin?

21

UE001-4A_5

log L/AL luminance contrast | _
sensitivity threshold L g=63cdin?

21

1T data & P-A3-%" R’
AD 26s A
0+ 3repeat

log L/AL luminance contrast | _
sensitivity threshold L g=63cdin?

UE001-8A_5



log L/AL luminance contrast -
sensitivity threshold L g=6,3cd/nf

2--

[ data & P-AR
KR 26s #
| 3repeats

log L/AL luminance contrast =
sensitivity threshold L g=6.3cdin?

[ data & P-A3-*",
BM 26s #
|l 3 repeats

log L/AL luminance contrast =
sensitivity threshold Lg=6.3cdint

data & P-A3- .
KR 26s
3rep s

log L/AL luminance contrast =
sensitivity threshold L g=6.3cdint

[ data & P-A3-“ X y
PO 265 ~ A 0,34 0,40
| 3 repeats Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

2 Xx=logL

UEO00-7A_6

UEQ000-7R

log L/AL luminance contrast =
sensitivity threshold Lg=6.3cdint

2--

I data & P-A3-"
PO 26s *
0+ 3 repeats

UE000-2A_6

log L/AL luminance contrast =
sensitivity threshold Lg=6.3cdinf

21

I data & P-AR-"
AD 26s .
|l 3 repeats

UE000-4A_6

log L/AL luminance contrast =
sensitivity threshold Lg=6.3cdinf

data & P-A3- .«
AD 26¢
3 repe dts

log L/AL luminance contrast =
sensitivity threshold Lg=6.3cdint

I data & P-A3-"
AD 26s &
|l 3 repeas

UE000-8A_6

log L/AL luminance contrast =
sensitivity threshold Lg=6.3cdint

data & P=£2""
BM 26s .
31 s

UE001-1A_6

log L/AL luminance contrast =
sensitivity threshold Lg=6.3cdinf

data & P-A"" .
AD 26s ¢
3ren: as

UE001-3A_6

log L/AL luminance contrast =
sensitivity threshold Lg=6.3cdinf

data & P-A?-"
AD 265" .
3 repeats

log L/AL luminance contrast -
sensitivity threshold Lg=6.3cdint

data & P-A”
AD 26s * .
3ren: as

UE001-7A_6

log L/AL luminance contrast =
sensitivity threshold L g=6.3cd/n?

I data & P~""_.at
AD 26s ¢
L 3re~ :ats

UE001-2A_6

log L/AL luminance contrast =
sensitivity threshold L g=6.3cd/n?

21

[ data & P-A3-
AD 26¢<
L 3rep- ats

UE001-4A_6

log L/AL luminance contrast =
sensitivity threshold L g=6,3cd/n?

21

F data & P-""
AD 26s. .
L 3re” :ats

log L/AL luminance contrast =
sensitivity threshold L g=6.3cdn?

[ data & P-AR
KR 265 *
L 3rep ws

UE001-8A_6



L/AL luminance contrast

sensitivity threshold
401 Xx Y N
A 0,34 040 415 & P-A3fitay
Y 045 047 kRopsA .

015 019 3 repeats
0,58 0,32

0,25

Lg=630cd/n?
.

UE000-1A_7

L/AL luminance contrast
sensitivity threshold

401 XxX Y

A 034 0,40 15 & p-A3- flt\\ <

Y 045 047 By 26s A oo

0,15 0,19
z 3 repeats L
0,58 0,32 - o

0,25 0,44

Lg=630cd/n?

L/AL luminance contrast
sensitivity threshold
4071 X
A 0,34
Y 0,45
0,15 0,19
0,58 0,32
20T 0,25

301

101

(0]
-3

UEO00-5A_7

L/AL luminance contrast
sensitivity threshold
401 *x Y

A 0,34 040 a15 g P-A3-fit
Y 0,45 0,47 PO 26s B

015 019 3 repeats

0,58 0,32

0,25 0,44

Lg=630cd/nt

301

UE000-7A_7
UEO00-7R

luminance contrast
sensitivity threshold
X oy
A 0,34 0,40
Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

UE000-2A_7

L/AL luminance contrast
sensitivity threshold
X oy

A 0,34 0,40

Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

AD 26s A
3 repeats

UE000-4A_7

L/AL luminance contr]st
sensitivity threshold
40T X Y
A 0,34 0,40
Y 0,45 0,47
0,15 0,19
0,58 0,32
20T < 0,25 0,44

301

101

(0]
-3
UEO00-6A_7
L/AL luminance contrast
sensitivity threshold
401 X Y
A 0,34 0,40
Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

Lg=630cd/n?

data & P-A3-fit
AD 26s B
3 repeats

301

UE000-8A_7

Lg=630cd/n?

luminance contrast
sensitivity threshold
X oy
A 0,34 0,40
| Y 045 0,47
0,15 0,19
0,58 0,32
0,25 0,44

data & P-A3- i
BM 26s R
3 repeats

Lg=630cd/n?

it

UE001-1A_7

L/AL luminance contrast
sensitivity threshold
X oy
A 0,34 0,40
| Y 045 0,47
0,15 0,19
0,58 0,32
0,25 0,44

data & P-A3-fi
AD 26s G
3 repeats

Lg=630cd/n?

UE001-3A_7

L/AL luminance contrast
sensitivity threshold
40T X Y
A 0,34 0,40
Y 0,45 0,47
0,15 0,19
0,58 0,32
20T < 0,25 0,44

301

101

0

-3
UEO01-5A_7
L/AL luminance contrast
sensitivity threshold
40. X y
A 0,34 0,40
Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

data & P-AZ
AD 265 A,G 7
3 repeats / S

30--

o

UE001-7A_7

L/AL luminance contrast
sensitivity threshold
40T X y
A 0,34 0,40
| ¥ 045 047
0,15 0,19
0,58 0,32
0,25 0,44

Lg=630cd/nt

data & P-A3-fit
AD 26s R
3 repeats

UE001-2A_7

L/AL luminance contrgst
sensitivity threshold

40T X y

A 0,34 0,40

| ¥ 045 047

0,15 0,19

0,58 0,32

0,25 0,44

UE001-4A_7

L/AL luminance contrast
sensitivity threshold
40T X Y
A 0,34 0,40
Y 0,45 0,47
0,15 0,19
0,58 0,32
20T © 0,25 044

3071

101

(0]
-3
UEO01-6A_7
L/AL luminance contrast
sensitivity threshold
401 X Y
A 0,34 0,40
Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

KR 265 A,Y S
3 repeats

3071

UE001-8A_7



L/AL luminance contrast
sensitivity threshold\
40. X Yy
A 0,34 0,40
Y 0,45 0,47
0,15 0,19
0,58 0,32
20T © 025 044

N
Lg<63cd/n?
9< %

301

UE000-1A 8

L/AL luminance contrast
sensitivity threshold «

4071 *X VY
A 0,34 0,40
Y 0,45 0,47
0,15 0,19
0,58 0,32 \
0,25 0,44 X

Lg=63cd/n?

A
data & P-A3fit
BM 263 A Qf .
3 repeat>

N

X3

Ve
;.
3 %

UE000-3A 8

L/AL luminance contrast
sensitivity threshold
4071 x VY
A 0,34 0,40
Y 0,45 0,47
0,15 0,19
0,58 0,32
20T © 025 044

'S Lge63cdin?
N

301

101

UEO00-5A_8

L/AL luminance contrast
sensitivity threshold

401 *x Y
A 0,34 0,40
Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

Lg=63cd/n?

data & P- A3-fit
PO 26s B
3 repe:s;

UE000-7A_8
UEO00-7R

luminance contrast
sensitivity threshold
X y (N

A 034 040 yatg g p- A(‘,‘lt >
Y 045 047 poogs p N
0,15 0,19
0,58 0,32
0,25 0,44

UE000-2A_8

L/AL luminance contrast « , _
sensitivity threshold ~ -9763¢¢/ nf

X % \‘°

A 034 040 yqn g p-ASsit

Y 045 047 ap ogs ,{\ S S
0,15 019 3 repeatg ¥
0,58 0,32
0,25 0,44

UE000-4A_8
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